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1.

CERA)=

Fe Ilw *Inxdx =

e . dy
# xsiny = ycosx » f—==
y=y dx

Evaluate lim (L —Lj =

"\ x—=1 Inx

An equation of the tangent line to the curve x*>+xy+y> =3 at the point (1,1)
is

The directional derivative of the function f(x,y)=x*y’ —4y at the point (2,—-1)
in the direction of the vector v=(2,5) is

j “eldr
Evaluate lim~+——=
x-1 x—=1

Calculate J-,? L =
7 1+cosx

Calculate J._zz‘xz -x- 2‘ dx =

2% *43 3B A B BT S ek T BT A o
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2. éﬁf—y% =15y dedl 1 40 0 SR R A -

3. Evaluate the integral J: j %sin( ) dy dx .

[x|" if x#0
1 if x=0
(a) Show that f is continuous at 0.
(b) Show that f 1is not differentiable at 0.

4. Let f(x) ={

5. Find the area of the region bounded by the graphs of y= ‘xz —1‘ and y=2.

6. Find the radius of convergence for the power series Z (nx‘) .
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1. 3 .ﬂ“\lim(l +lj -

X — 00 x

/2
2. ;é]‘\j: cos® xdx =

3. Féa‘\jo \/_(x+1) _

4. If lim[f(x)+g(x)]=2 and 1i5n[ f)=-g®]=1, then lim f(x)g(x)=

\/1+u

5. If F(x)= j f(t)dt, where f(t) = j du, find F"(2)=

6. Suppose f is a one-to-one differentiable function and its inverse function f

also differentiable. If f(4)=5 and f'(4) = % ,find (F7Y)'5) =
7. The Maclaurin series for the function f(x)=xcosx 1s

. 13 2 .
8. Evaluate the 1ntegra1J-OJ-3yex dxdy = . (Hint: change the order of

integration)

9. Let x’cosy=y’sinx. Then %:

5 5 5 5
10. Calculate lim1 +2°+3 + 0~ =

n-o I’l6




11. Calculate J-lw (li 2)dx:
X X

12. Let jo tf(t)dt = x> +x*. Then f(l)=

dx =

1

Jx* =9

5
13. Evaluate L

SRz EP A (48% 0 F AL 8%)

1 #8% F[0]F PR f(x) = x° % x B dE 7 (7 8 e 4 o
2. FRWA)y=4-x"1 8- Bpede (0,2) B iT ?

3. 1If C, +%+~--+h +&=0, where C,,---,C, are real constants, prove that the

n n+l
equation C,+Cx+---C,_x""+C x" =0 has at least one real root between 0 and 1.

4. 1If f(x)=0 forallirrational x, f(x)=1 forall rational x, prove that f 1is not
Riemann integrable on [a,b] for any a<b.

5. Prove that lim —Y does not exist.

(x,3)-(0,0) x + 2y

6. Evaluate the double integral jf I ESlétﬂalxa’y .
v 4x
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